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QUESTION 1

You are building a new IP fabric data center underlay network and want to ensure predicted load- balancing behavior for
traffic, traversing the fabric. What are two approaches you should take to satisfy the requirement in this scenario?
(Choose two.) 

A. Ensure that all spine devices are the same switched mode. 

B. Ensure that all uplinks are 40GbE. 

C. Ensure that every leaf node has an uplink spine node 

D. Ensure that every node has a link to every other leaf node 

Correct Answer: AC 

 

QUESTION 2

Which two statements about ZTP are true? (Choose two.) 

A. The image storage service and the DHCP server can be running on different server hosts. 

B. When a switch is booted. DHCP requests are sent only through the management Ethernet interface. 

C. The image storage service must be running on the same server host where the DHCP service is running. 

D. When a switch is booted, DHCP requests are sent through the management interface as well as attached revenue
ports. 

Correct Answer: AB 

 

QUESTION 3

What is an advantage that EVPN has over VPLS when used for DCI? 

A. mass MAC withdrawal 

B. transparent BPDU transport 

C. active/standby multihoming 

D. reverse path forwarding 

Correct Answer: A 

 

QUESTION 4

You are asked to configure JTI on the QFX Series devices in your data center fabric. You must use sensors with the
least amount of latency. Which type of sensor should you use in this scenario? 
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A. Python sensors 

B. JTI native sensors 

C. analog sensors 

D. JTI OpenConfig sensors 

Correct Answer: B 

 

QUESTION 5

Host1 and host2 are connected to an EVPN signaled VXLAN overlay, and must have Layer 3 connectivity. The VNI and
VLAN assignments are shown in the exhibit. 

In this scenario, which two statements are true? (Choose two.) 
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A. A Layer 3 gateway can be configured on the leaf devices. 

B. The VNI assigned to the host1 link must be same as the VNI assigned to the host2 link. 

C. The ESI assigned to the host1 link will be different from the ESI assigned to the host link. 

D. A layer 3 gateway can be configured on the spine devices. 

Correct Answer: AD 
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